|=|

S BAi %%:z

L2 TFE —i=5T « Bhl=
ORMIERT

ORMWIETEEN

(i FF)
X 9 o )
4 1E a1 HIE®
- fHIE%E B fig =
~ = ¥ 5 5 ¥ 5 5 (%)
= 5t Bl
— e st 48,540511| 1,004,042| 49,634553] 2.3
ZESEBRS 221600 221,600
BRERERS X ;954700 124,108 7948898 1.6
I
mmEEERast| 497,600 497,600
ThkE=2srast| 9879560 179255 10058815 18
ll g * %;jﬁ HF/_EZJ( % % 130,500 660 131,160 05
g ’gﬁ %ﬁ %ﬁj ﬁgﬁy ﬁ 440,000 440,000
2 [NEREERBAIRE| 4,943,100 14.004| 4957104 0.3
é 2 ”g@f s5E E/_E\’% gf 731,300 7841 739141 11
| R LEXB 705,000 705,000
=
EEIMXER T HMXE
et 455,700 455,700
st 25.820.060|  326,048| 26.155108] 1.3
= =t 74.369571| 1,420,000 75,780.661] 1.9




